E76EFF/NFIUIN KRR IFTH R

2023/7/117
M-B WBGC (FRk) NP Rallies |k ILAASR B BB | RAVEE ,;ffﬁ BRRAE [=Fiva
X @) X 1 — 2|2 — 7|6 — 16(203 — 268
WBG (TR 0 — 3 — 1|0 — 3 ( -1) ( -5) ( -10) ( -65 ) 3
1 — 6 — 4|1 — 6
60 — 92|77 — 82|66 — 94
@) @) @) 3 — 0|7 — 2|14 — 7]|254 — 210
NP Rallies| 3 — O 2 — 112 — 1| (3) ( 5) (7)) ( 44 ) 1
6 — 1 4 — 3|4 — 3
92 — 60 84 — 70|78 — 80
X X X 0 — 3|3 — 610 — 12224 — 247
cetaqhl 1 — 2|1 — 2 1 — 2| (-3) ( -3) ( -2) ( -23) 4
4 — 4|13 — 4 3 — 4
82 — 77|70 — 84 72 — 86
@) X (@) 2 — 1|6 — 3|13 — 8260 — 216
e 3 -0 1 — - 1 (1) ( 3) ( 5 ) ( 44 ) 2
6 — 1|13 — 4|4 — 3
94 — 66|80 — 78|86 — 72
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RKEd: FIEARRXSEEF)77 3
EEB: H{AE(M-B)

HEEE: 1 (WBC(FR) vs NP Rallies)
£15: AR -VtU4s-

M-B
WBC (k) 0 - 3 NP Rallies
Plg X— 2 — 15 Abhijeet Bhure
D1 0 10 — 15 2
K i _ Dhami Kaveendra
|:|:| % *EE 10 — 15 Gijo Mulackakudy Sivan
D2 1 15 — 12 2
=) & 4 — 5 Regin Jose
5% ¥ BH 11 — 15 Lonare Aman Ganesh
D3 0 8 — 15 )
Al B — Rout Biswajeet

2/7R=



K24

HEES: 2 (UvhILASh vs H)

FIRIXRRXKEEZTI77 e
EH: HiKE (M-B)

=i5: Ak -Ytva-

D1

D2

D3

xbILASLR

SAZ /\)

S8V Ay TESYY A

P14 £ 5

=K 5

s i\ 2z

S8 )ary TESYY A

M-B
T - 2
19 — 10
15 — 13
15 — 13
3 — 13
1T — 5
11 — 15
12 — 15

3/ 71 R=

FA B85k

GRS

INYRER KA

=X INITNTE

BA &

SRS =):5



R4 FIRIRRREEFF)77 didk

EH: HiKE (M-B)

HEES: 3 (NP Rallies vs v kILAALR)

=i5: Ak -Ytva-

NP Rallies

Abhijeet Bhure

D1
Dhami Kaveendra
Gijo Mulackakudy Sivan
D2
Regin Jose
Lonare Aman Ganesh
D3

Rout Biswajeet

4/ 7 R—

M-B

2 - 1
19 —

15 — 8
12 — 15
1 — 9
o — 1
11 — 15
11 — 15

892ty TESYYa

P £ 58

W i\ 2z

TAZ /\)



RKE4: FISRIRRRXEEST)I77 X inE
EH: HiKE (M-B)

HEHBS: 4 (WBC(ERK) vs )

=i5: Ak -Ytva-

D1

D2

D3

WBC (FERk)

B EF

=z FEEk

%7 BH

Bl B

5/7R—=

M-B
0O - 3
19 — 14
9 — 15
T — 5
8§ — 15
12 — 15
9 — 15
12 — 15

INRER KAt

=1 [LEA

BA &

E =

FA B85k
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R4 FIRIRRREEFF)77 didk

EH: HiKE (M-B)

HEES: 5 (NP Rallies vs #)

=i5: Ak -Ytva-

NP Rallies

Abhijeet Bhure

D1
Dhami Kaveendra
Gijo Mulackakudy Sivan
D2
Regin Jose
Lonare Aman Ganesh
D3

Rout Biswajeet

6/7R—

M-B

2 - 1
11 — 15
15 — 13
9o — 4
10 — 15

— 15
1 — 9
1 — 9

INRER KAt

A1 [LEA

FA B85k

ot F5B



K24

EH: HiKE (M-B)
HEES: 6 (WBC(ERL) vs UrbILAAK)
=15 AR -Ytvs-

WBC (FERk)

D1

D2

D3

B EF

=z FEEk

Fls X—

i% ¥ BH

FI16ERXRREREFIF7 ®HEk

7/7R=

M-B
2 - 1
19 — 6
14 — 15
o — 1
11 — 15
7 — 13
15 — 13
9 — 15
o — 2

xbILASLR

Wi i\ 2z

P 125

FAZ /\)
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